> A
A & 0l & AF 2 E A A
A= SXAL= M ARSI =X
MY | ZMEPH
O HASHEMSGHY S (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
sNHL= 1,547,423,434 1,419,780, 358 127,643,076
= 1,199,066,044
Xl 14,334,686
J| 60,940,887
< 273,081,817
A2l = X2t 412,335,439 340,270,973 72,064,466
= 281,728,137
Xl 12,221,116
< 118,386, 186
IZMEEH 306,860,241 248,182,875 58,677,366
= 274,898,508
= 31,961,733
HASHESAS tE L &= 306,860,241 248,182,875 58,677,366
= 274,898,508
= 31,961,733
RSN XS 192,372 192,372 0
307 21201 A 120,000 120,000 0
11T MISXASEX 120,000 120,000 0
OZAEEWUI2AXNR 120,000
308 MtXIEHSOIH 72,372 72,372 0
01 HXNHHNBHEELS 72,372 72,372 0
ZCOANS2G XA (400 L) 18,372
OJ)IZFCWIARI XA (18I L) 54,000
SIS EESHIR (A 253,124,100 183,593, 117 69,530,983
= 227,585,000
=) 25,539,100
308 XX EHHSOIA 253,124,100 183,593,117 69,530,983
= 227,585,000
=) 25,539,100
01 XML EES 253,124,100 183,593, 117 69,530,983
O3 =MEBXHS0(MASO) 253,124,100
= 227,585,000
< 25,539,100
S ZMESEHSHIF (LK) (ZNHAEXE) 590,558 6,289,720 25,699,162
308 MXIEHSOIH 590,558 6,289,720 25,699,162
08 WSII20HetE = 590,558 6,289,720 25,699,162
O=3220|=M4830(Rs30) 590,558
S| = MBS Z 0 X2 (o &HE ) 1,864,603 1,779,885 84,718
= 1,735,000
< 129,603
308 XX EHHSOIA 1,864,603 1,779,885 84,718
= 1,735,000
< 129,603




M ox
40 5 4

M AEI =S X

= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 HIXNHHNBHNEES 1,864,603 1,779,885 84,718
O=2eD =450 (HMEHMESH) 1,864,603
= 1,735,000
< 129,603
==X K2 AL 4,300,000 5,052,500 A752,500
= 4,000,000
< 300,000
308 XXIEHH SOl A 4,300,000 5,052,500 A752,500
= 4,000,000
< 300,000
01 AXHHILEES 4,300,000 5,052,500 A752,500
O2==EX K& A 4,300,000
2 4,000,000
S 300,000
FRYIENA 6,817,400 6,690,400 127,000
= 6,704,000
< 113,400
308 MtXIEHMSOIH 6,817,400 6,690,400 127,000
= 6,704,000
< 113,400
01 AXSHBLELS 6,817,400 6,690,400 127,000
OFFLISAXNNR 6,817,400
= 6,704,000
= 113,400
SE At 22l AR & 1,335,516 1,296,750 38,766
= 1,027,320
< 308,196
308 XX EHHSOIA 1,335,516 1,296,750 38,766
= 1,027,320
< 308,196
01 IXNHHBNEES 1,335,516 1,296,750 38,766
LS Atcl 2l ALK& 1,335,516
= 1,027,320
< 308,196
SSMIEXEE M H NS 5,741,185 7,968,647 AN2,227,462
= 5,063,050
< 678,135
308 XHXI &I S0 & 5,741,185 7,968,647 NA2,227,462
= 5,063,050
< 678,135
01 IXNHHEBAMNEES 5,741,185 7,968,647 A2,227,462
CIAr 2t el AF S XI & 432,810
= 357,300
= 75,510
OXSESANHLSHAMNL KR (A S X Z 1A
1) 934,175




Az SAAZ= A 1 AL S Xt
Hu: I ZMBEE
S MASHSMtE LSS (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
= 827,750
< 106,425
OMNESHMAME XS (AMS S XIEQI2AH) 2,251,500
= 1,995,000
= 256,500
O02EBASHSAEAML(SSLAULFTEE) 60,800
= 56,000
< 4,800
OSFC0HEHYLS AR R 16 & 72 Q124 H| 2,061,900
= 1,827,000
= 234,900
NEZZ ALY 20,707,485 21,877,800 21,170,315
= 19,860,000
< 847,485
308 XXIEHHSOIA 20,707,485 21,877,800 A 1,170,315
= 19,860,000
< 847,485
01 AXNSHHBANEES 20,707,485 21,877,800 A 1,170,315
OXEIZ2 AL 20,707,485
= 19,860,000
< 847,485
ANEXtedH 29 XA 3,687,830 3,578,621 109,209
= 3,267,698
< 420,132
308 XX EHH SOl A 3,687,830 3,578,621 109,209
= 3,267,698
< 420,132
01 AXSHBLELS 3,687,830 3,578,621 109,209
OXNEHedH2I X2 3,687,830
= 3,267,698
< 420,132
THEARS & O RH A& 5Ot E 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
11T M SXASEEX 20,000 20,000 0
OXHEAS & O XA & EH0HE 20,000
PRSP Sl R l= 300,000 0 300,000
403 MtXISHH S A0l & 300,000 0 300,000
01 XM A2EER 300,000 0 300,000
OXNSXGEdEHAE 300,000
AH&Abe 22| At 141,771 142,200 A 429
= 125,622
< 16,149
308 XtXIEHH SOl A 141,771 142,200 A 429
= 125,622
< 16,149




Az SAAZ= M A= X
MY | ZMEPH
S HASHSAMONYSS CERED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 AXSHHBLEES 141,771 142,200 A 429
COOXHE At 22l 141,771
= 125,622
< 16,149
S|AINBEHE(II=E) 2,000,244 2,262,000 A 261,756
= 1,875,434
< 124,810
308 XXIEHH SOl A 2,000,244 2,262,000 A 261,756
= 1,875,434
< 124,810
01 AXHHILEES 2,000,244 2,262,000 A 261,756
Osigigsd(dl=x) 2,000,244
= 1,875,434
= 124,810
S|AIBESE(XA) 1,676,295 2,375,000 A 698,705
= 1,353,608
< 322,687
307 21201 A 1,676,295 2,375,000 A 698,705
= 1,353,608
< 322,687
11 ALS S XAEE = 1,676,295 2,375,000 A 698,705
O8NS SH(XtHa<) 1,676,295
= 1,353,608
= 322,687
NS HEdHSAMAE 57,792 44,352 13,440
307 glz2tol & 13,440 0 13,440
11T M Z2XAIS EX 13,440 0 13,440
O UEHEHSMASY 13,440
308 XtXIELH SOl A 44,352 44,352 0
01 XML EES 44,352 44,352 0
OXNSXNEMEHSAR S 44,352
A Ed st A I XI& 150,000 90,000 60,000
308 MXIEHMSOIH 150,000 90,000 60,000
01 HXNHHBHELS 150,000 90,000 60,000
OXaedstAtS R 150,000
LC=0=XAE2E 2,096,034 1,969, 153 126,881
= 1,467,224
< 628,810
308 XX EHH SOl 2,096,034 1,969, 153 126,881
= 1,467,224
< 628,810
01 IXNHHBNEES 2,096,034 1,969, 153 126,881
O===STALE2S 2,096,034
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AR 2X2AHL=2 2M @ Al =X
MY | ZMEPH
H2: MASHSAMIELES (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OJ)I=ZMEE8HAL2=X0 Y| 9,000
203 € R F&d| 4,300 4,500 A 200
03 AIZH =X 2= XY 4,300 4,500 A 200
OFHENAYREA 4,300
ZAXNELMEH2IXE 482,500 468,430 14,070
= 337,750
o 144,750
307 212t0| & 482,500 468,430 14,070
= 337,750
o 144,750
11 A EXAIEEX 482,500 468,430 14,070
OZY9NEdeedY 482,500
= 337,750
& 144,750
AT ELSGAISE XA 30,000 30,000 0
307 2iz2to| A 30,000 30,000 0
11T AISIEXAIEEX 30,000 30,000 0
O NESELSIAIE X & 30,000
S|UISEH (XA )AL 2 2| 66,414 64,480 1,934
= 46,490
= 19,924
307 QI2t01 ™ 66,414 64,480 1,934
= 46,490
& 19,924
11T A EXAIEEX 66,414 64,480 1,934
S| UISSEH(FAA)A2 22l 2| 66,414
= 46,490
& 19,924
Hwegssd 467,876 0 467,876
= 438,682
o 29,194
308 XX SHHSOIH 467,876 0 467,876
= 438,682
o= 29,194
01 AIXSHMEMNEX= 467,876 0 467,876
OJedIssz 467,876
= 438,682
= 29,194
XNEAS 2R NHH AZS 24,172,250 23,685,848 486,402
= 6,829,629
Xl 11,501,116
& 5,841,505
NEAS SR AE=E 24,172,250 23,685,848 486,402
= 6,829,629




M ox
40 5 4

23at

D EXAE= M AEI =S X
S A AME S ITAE A
D AG AR SR AL =&

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Al 11,501,116
< 5,841,505
NETEE A MBI ASE ALY 11,163,495 11,176,990 A 13,495
X 9,982,550
< 1,180,945
307 glz2tol & 240,000 240,000 0
X 168,000
< 72,000
11T M 2XAIS EX 240,000 240,000 0
OXGAMSMEIAXRH2G (XNSZH]) 240,000
Xl 168,000
= 72,000
308 XtXIEHH SOl A 10,923,495 10,936,990 A 13,495
Xl 9,814,550
< 1,108,945
01 X HHILEES 10,923,495 10,936,990 A 13,495
OXNSAS MEIASEXANS (RIS S HI) 10,923,495
Xl 9,814,550
< 1,108,945
IIANZIE E L 0] A 1,664,202 1,586,363 77,839
Xl 1,511,566
< 152,636
308 A EHHSOIA 1,664,202 1,586,363 77,839
Xl 1,511,566
< 152,636
01 HXNHHNBHEES 1,664,202 1,586,363 77,839
CIJARIE S 20IAFS (XIS & HI) 1,664,202
Xl 1,511,566
< 152,636
ZHEZAI=RNZSSE2S32GRE 70,000 70,000 0
307 glz2+ol & 70,000 70,000 0
10 ALSISXAIEEE2EHEX 70,000 70,000 0
OZ4=2cMs=Nss222ZRE 70,000
M EXNH2H 23t 30,000 30,000 0
201 Let24E| 10,000 10,000 0
03 A2l 10,000 10,000 0
OAeEXIdEZd st 10,000
308 AHAIEHHSOIA 20,000 20,000 0
01 HXNHHBHELS 20,000 20,000 0
AR =X QI S k2 5 20,000
MEIEXNANELEZEANAE NS 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T M Z2XAS EX 10,000 10,000 0




AR 2X2AHL=2 2M @ Al =X
H: XSAMS=SXMHEAZS
Sl XS A ZRAY = (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OMSIEXAEZTEANAB NS 10,000
HUQAAEI I sEL 195,744 36,465 159,279
= 150,572
= 45 172
403 XX SHHS K20 & 195,744 36,465 159,279
= 150,572
& 45,172
01 XIS A=2E X 195,744 36,465 159,279
OJAAMAANEI)IsE2 195,744
= 150,572
o= 45,172
AMSISXNAESAMAE2 LS 80,000 80,000 0
307 212t0| & 80,000 80,000 0]
11 A EXAIEEX 80,000 80,000 0
OMISESXNANESMNGES LR 80,000
AMN=SEANISXNEYG2IE XA 170,000 170,000 0
307 2Iz2t0| & 170,000 170,000 0
03 QIZE X EHESIHI EX 170,000 170,000 0
OFA=SZAISEXNEYS2EXNA 170,000
ALSI 2 X 2 &8l AL 30,000 30,000 0
307 2iztol & 30,000 30,000 0
11T AISIEXAIEEX 30,000 30,000 0
COJAISI 2 X 2| &8t Al 30,000
A= XM 2R ALA ST 90,000 60,000 30,000
307 QI2t0| & 90,000 60,000 30,000
11T A EXAIEEX 90,000 60,000 30,000
OF3=XAAIS = X AFA &G 30,000
OB=XNEAMSEXNAMNELFUNS 60,000
AMNIEXNEEHEHSE 150,000 150,000 0
307 giztol & 150,000 150,000 0
11T AISIEXAIEEX 150,000 150,000 0
OMSEXNEEHMEHSE 150,000
AASCAMNIBEINIJMEESH 50,000 50,000 0
307 QI2t0| ™ 50,000 50,000 0
11T A EXAIEEX 50,000 50,000 0
O3A=SZASBSXNJEEHSH 50,000
ZE20|2S AN XS 35,000 35,000 0
307 212t0| & 5,000 5,000 0
11 A EXAIEE X 5,000 5,000 0




Az SAAZ= M A= X
M NAAS 2R AEIA LS
2 NAASSXAIE F=& (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OE20I=SME2E 5,000
308 XXM SOIA 30,000 30,000 0
01 AXHHIYEES 30,000 30,000 0
OZE20 S AtE X & 30,000
HAZSZUQRLAEHSHE 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISXAISEEX 10,000 10,000 0
ORI =SZAUQIAEHNSHSE 10,000
A2l S X2t S AHAHAIOT L 15,000 15,000 0
307 g2+l & 15,000 15,000 0
11T M SXAISE EX 15,000 15,000 0
CIARSI = X 2 S AFXEAILO] L 15,000
M SXAELARNMEZ X 222,026 214,494 7,532
301 et d = 222,026 214,494 7,532
01 MEIBEZE 06z 222,026 214,494 7,532
DA EXNAE L AXNEES XA 222,026
FAURAALLARAZ A 20,846 20,846 0
308 XXIEHHSOIA 20,846 20,846 0
01 AXHHBILEES 20,846 20,846 0
OFMQAANLELALATYAZSXE 20,846
MBI SXAEEALR =S 123,648 123,648 0
308 XX EHHSOIA 123,648 123,648 0
TAXNEHBEEXS 123,648 123,648 0
OAM 22X AIES AR =S 123,648
M2 2T 2E ALY 86,400 86,400 0
308 XX EHHSOIA 86,400 86,400 0
01 HIXNHHNBNEES 86,400 86,400 0
OAS =X 2E3HALS 86,400
FUQAANERS 7,520,864 7,676,162 A 155,298
= 6,664,057
< 856,807
308 XXM SOIA 7,520,864 7,676,162 A 155,298
= 6,664,057
< 856,807
01 XML EES 7,520,864 7,676,162 A 155,298
OBMUQAANE2H 7,520,864
= 6,664,057
< 856,807
HON=ESXNEESAE2E 10,000 10,000 0




A= SXAL= M A= X
M NS A =X ML 3
Sl KIGASISRAY =T (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 10,000 10,000 0
11T M SRASEEX 10,000 10,000 0
OO0 ==sXsE S A 10,000
JEH=ENHRI(EH) 1,980,000 1,400,000 580,000
306 == 1,980,000 1,400,000 580,000
01 =23 1,980,000 1,400,000 580,000
Od=snt=2d 1,980,000
ZE=SNS0JIs82Z 8,000 8,000 0
201 Let24d] 8,000 8,000 0
01 AP 2teltl 8,000 8,000 0
baxs 8,000
OZ=E=EXNs0IIsEX t 8,000
MEISX LIS S M AL 15,000 20,000 25,000
308 XXM SOl A 15,000 20,000 A5,000
01 IXNHHBNEES 15,000 20,000 A5,000
LA =X It=EE a 15,000
AMBIFXNZ=IZESSREAY 2,000 2,000 0
303 &3 2,000 2,000 0
01 Z&3 2,000 2,000 0
OMBIESXFERES 2,000
H=ELt=20/ 28 3R 30,000 30,000 0
307 21201 A 30,000 30,000 0
11T AL SXAEE X 30,000 30,000 0
Og=suz0g48sX 30,000
NS ASI MBI AERALSE 2 F 10,000 10,000 0
Xl 7,000
S 3,000
201 ¢4l 10,000 10,000 0
X 7,000
= 3,000
01 At 2t 2l 10,000 10,000 0
Oger==&H| 10,000
OXNYGMIMEIAETAMLHTRAS(NES
Bl) 10,000
Xl 7,000
< 3,000
NAMBEHEAMS2S XA 97,000 97,000 0
308 XXM SOIA 97,000 97,000 0
01 XML EES 97,000 97,000 0




AR 2X2AHL=2 2M @ Al =X
H: XSAMS=SXMHEAZS
Sl KIGASISRAY =T (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OXNEA EHEIMESE X 97,000
XNAANSBEEHEOAMAN AN X 25,000 25,000 0
2 15,000
= 10,000
308 XAHXIGHHMSO0|& 25,000 25,000 0
2 15,000
& 10,000
01 HXHHIMNEXS 25,000 25,000 0
OXNGAMISHEAMX AN XA 25,000
= 15,000
o= 10,000
MEI2EXAIELATAH 12,862 12,862 0
308 XX SHHSOIH 12,862 12,862 0
01 AIXSHMENEXZ 12,862 12,862 0
OAISI S X AIE A XA 2 H & H| 6,431
COOAMSIEXAIE L AXEAH| 6,431
X AE = XA E A 75,663 87,618 A11,955
101 21 214| 7,913 6,118 1,795
04 JIZtHIZ22XNSE S 7,913 6,118 1,795
OsxsA0do 2 7,913
oJlas 48,2403 1 *132L 6,368
OFsd 48,240 » 1«26 1,255
O X=¢ 48,2402 x1H 6L 290
201 LBt Y| 14,850 27,000 A 12,150
01 AP 22| d| 14,850 27,000 N 12,150
OgetL&H| 8,850
OXN YA X ALY =& B2 H| 8,850
Oeds¢ 6,000
OXGANISXNARERA =LY 6,000
202 o4 | 20,000 21,000 A 1,000
01 2L I 20,000 21,000 A 1,000
OXY9As 22X YR2E=X0H] 20,000
203 € R F=&d| 12,900 13,500 A 600
03 AIEH =X H 2= XY 12,900 13,500 A 600
OXNSAMII=XNEHASSHEEFA 12,900
207 AN et 20,000 20,000 0
01 24| 20,000 20,000 0
OXNGASEHAITEHE =8 20,000
AEMEL T AAE 2L 2H 50,000 330,000 A 280,000
306 23 50,000 30,000 20,000




A= SXAL= M A= X
M NS A =X ML 3
Sl KIGASISRAY =T (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 &= 50,000 30,000 20,000
OJB3SHSANZTAAE 2R 2Y 50,000
NSEASIHEIAHRFA 19,500 22,000 A 2,500
201 Let24E] 12,500 14,000 A 1,500
01 At 22l 12,500 14,000 A 1,500
Opt=2l 12,500
OXYAS MBI ASE LB ZH| 12,500
202 o4dl 7,000 8,000 21,000
01 = LH o4 1l 7,000 8,000 A 1,000
OXGAS MEIAHRFE O 7,000
MI=EXH2EHAEHX R 100,000 0 100,000
308 XXIEHH SOl A 100,000 0 100,000
01 AXHHIYEES 100,000 0 100,000
OAMSSXNDELMHAZ X2 (IS HE TALE
of) 100,000
S=EEdY 10,630,100 10,242,400 387,700
Xl 720,000
=) 9,910,100
SIAELMSFA 10,630,100 10,242,400 387,700
Xl 720,000
=) 9,910,100
IIIEEH M XA 931,000 643,000 288,000
307 glz2+ol & 931,000 643,000 288,000
03 BIAHMNHE2IHIEL 216,000 108,000 108,000
OEECdHdM2ZH X 216,000
04 QIZFHALAIH B & 40,000 45,000 A5,000
D2 S M A 40,000
11T M SXAIS EX 675,000 490,000 185,000
O etAd 273,000
OS40IZEsSNs 2 (AZNAAE)X 90,000
O2sdHdSEsAY 232,000
ORS=Xta ZellcALXA 80,000
FINEEUHATUHSL XA 4,084,600 4,001,600 83,000
201 Let24E] 26,500 18,000 8,500
01 At 22l 16,500 18,000 A 1,500
Ogst=2tl 16,500
O=3INESHSFA L= H| 16,500
03 A2 10,000 0 10,000
4198 HU6.2508 A D E & A 10,000
202 O4dl 7,000 8,000 A1,000
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A= SXAHL=A 2A Al =S X
Mz HM2AAH (A =X )
Sel: o2y (B9 ®R)
AD . 2N -HB O (3H) - MEAY - BAS 0 AF o il HDS2
BEEEEEICET ) 51,071
oJ=3 1,392,7603 x 15 »12& 16,714
Oad3 1,392, 760& *3H *400% 16,714
O9 XY 53,310& *3H x19& 3,039
oz2s+4¢ 97,000& *x1H x12& 1,164
OiIEsx=Y 100,000& x2H x12& 2,400
OnEExH| 60,000 *3H x12& 2,160
OY &SIyl 700,000 *3Y *23| 4,200
O&F Mz A 130,000& *x3H x12& 4,680
Jl =23t 97,040 92,740 4,300
Jl23Hl 97,040 92,740 4,300
201 Bt H | 32,640 27,340 5,300
01 AP 22l Yl 31,800 26,500 5,300
OJget=g| 15,000
OJI2AREeE7Y 12,000
OUNRISUTHRYS 3,000
O3 &8l 16,800
OAS=SXNLR=RSAH| 16,800
02 3524l 840 0
Osse=a% 840
O S altl 840
202 (4] 11,000 12, A 1,000
01 2L Y] 11,000 12, A 1,000
OMIEXNERFE 11,000
203 ¥R =&XH| 25,200 25 0
01 J|22IHRF=XY| 6,600 6, 0
O=% 6,600,000 x1H 6,600
04 2SI L RF=AH| 18,600 18, 0
[130¥ Ol &t 350,000 *3H 2 A +12& 12,600
1159 0l ot 250,000 *2)H £ A +12& 6,000
204 &R = A H| 28,200 28, 0
01 MR- AY| 28,200 28, 0
O=2% 600,000& x1H x12& 7,200
Wi 350,000 x5 x12& 21,000
MEE= (A2 X D) 69,662,237 57,185, 12,476,867
WEHAH XK= 69,662,237 57,185, 12,476,867
EZHII=2ISEIAHTHREZ 69,662,237 57,185, 12,476,867
701 JDIEISIH S 69,662,237 57,185, 12,476,867
01 JIEtSI AH A 69,662,237 57,185, 12,476,867
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N = 0l & At & Ml A

ANAZ= AR N =2=—=P\ )}
SMETAYS
2ASEY (St &)
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
X2t 847,831,907 820,558,627 27,273,280
= 762,273,685
J| 1,955,468
< 83,602,754
EONFE R el 771,810,321 757,225,871 14,584,450
= 729,816,951
< 41,993,370
ASEH 35,170,093 30,853,435 4,316,658
= 26,716,379
< 8,453,714
LoME 2SR 34,731,293 30,414,635 4,316,658
= 26,716,379
< 8,014,914
308 XtXIEHH SOl A 34,731,293 30,414,635 4,316,658
= 26,716,379
=) 8,014,914
01 AXHHILEES 34,731,293 30,414,635 4,316,658
OLomsgsX& 34,731,293
= 26,716,379
=) 8,014,914
COIAS B S XA (XA 438,800 438,800 0
307 gl2tol & 15,000 15,000 0
11T ALS S XAEE = 15,000 15,000 0
O dXelAg2AHNAIS 15,000
308 XXM SOIA 423,800 423,800 0
01 IXNHHBNEES 423,800 423,800 0
S HENILAEHZ S 82,800
OXNgsga ol dRel At 197,000
O2t20F =l 2Rl ArSE O HI X & 144,000
AR QIS AT D 7,384,926 3,670,052 3,714,874
= 3,211,913
=) 4,173,013
COANEREXH2ACILRFE 27,100 46,852 A 19,752
201 et 12,500 32,200 A 19,700
01 At 22l 12,500 32,200 219,700
Opt=ZHl 10,000
Oke=XNgR=a =2t 10,000
[E=3=3:] 2,500
Ok ANE L2l RFE S A 2,500
202 O4dl 9,800 9,652 148
01 =L 4 dl 9,800 9,652 148
OLQAERELRFTAH 9,800




A YEEE: SN =KD
Ha: LeMBTAYE
Sl ARAM YOI AR D (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
203 YR =&l 4,800 5,000 A 200
03 Al F=XH R =AH| 4,800 5,000 A 200
OZzAd2dodrzegeEa 4,800
CHet =l 3l XI & 300,000 200,000 100,000
307 eIzl & 300,000 200,000 100,000
03 BIAHMNHE2IHIEE 300,000 200,000 100,000
Oet= 3 A4S HES KR 300,000
O OIS ALK& 40,000 40,000 0
308 XtXIEHHSOIA 40,000 40,000 0
01 X HHILEES 40,000 40,000 0
OHHOIE IS AIXI & 40,000
Lo ALK& 30,000 20,000 10,000
307 21201 A 30,000 20,000 10,000
11T ALS S XA E X 30,000 20,000 10,000
QoL ALRI & 30,000
LoBSEEIA2H 608,326 623, 360 A 15,034
= 304,163
< 304,163
307 glz2tol & 608,326 623, 360 A 15,034
= 304,163
< 304,163
10 ALl SXAIEEE 2 H EX 608,326 623, 360 A 15,034
OLEsd2IN 22X A 608,326
= 304,163
< 304,163
LOESHEEI2LANEHEZ2E 44,800 44,800 0
308 XXM SOIA 44,800 44,800 0
01 AXHHILEES 44,800 44,800 0
O 22l 2IAEH2SE 44,800
LOESHERBIAMEHHIY 173,500 174,820 A 1,320
= 86,750
< 86,750
307 21201 A 173,500 174,820 A 1,320
= 86,750
< 86,750
10 AL SXNAIEEE2EHEX 173,500 174,820 A 1,320
Osttiool = M EHEH2E X 173,500
= 86,750
= 86,750
SEHUEAHE XS 3,667,300 1,135,000 2,532,300
= 2,821,000




"
oF
aJ

=

=

r

1of

o)

H

3

I+
_L
=
xr
of
00

oy 10
A0 3l
o H
< ok

"0 il <0

(RS

= ok

W HRo

M & oF
< RO T

<

n0

Kio

Hl w

2,532,300

2,532,300

400,260

1,122,680
400,260

4,800
4,800
434,000
130,000
304,000

H3r
Wikd
RIS

1,135,000

1,135,000

135,000
135,000
135,000

4,000
4,000
4,000

156,840
156,840

1,232,220

5,000
5,000

866,000
440,000
426,000

0l &t o

4

846,300
3,667,300
2,821,000

i

H

846,300
3,667,300
3,667,300
2,821,000

fir

H

135,000
135,000
135,000
135,000

846,300

4,000
4,000
4,000
4,000

2,354,900
557,100
557,100
550,000

150,000
400,000

5,000
5,000
2,100
2,100

9,800
9,800
9,800
1,300,000
570,000
200,000
220,000
150,000
730,000
40,000
200,000

Az0l&

=

=)

403 A+XI EHA|

01 AXISHHA=2E =

oF)
D
i)
oF)
00

KJ
)
0H

of

Ol &

=

S

308 AtXIEHH
01 AtX

)
K]
0
el

307 glztol &

iy
31

| = Xl A

=)

11 A

|

=

tel i

i 2l & X

+

01 ALR

I-DHB
201

N[

0
H
0o

ok
L)
il
ol
ot

ol

iy
00
ulo
0

T

Ulo
0
<+
o}
of)

_x_v

qEx

| = Xl A

01 SLHOYI
11 At3

307 clztol &

202 04l

30
OH
RO
ol
10

0
E]

I+
K1

oK
KK
<1

100,000
90,000

200,000

L=

BHel o

F

=

S

OH

"

O




A= SXAL= M eE=R1
Ha: LeMBTAYE
Sl ARAM YOI AR D (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OASeedEsE2E 100,000
308 XXM SOIA 488,000 188,000 300,000
01 AXHHIYEES 488,000 188,000 300,000
DA z=a2A 235,000
OZMEALAZES ALY 230,000
OEEmaLgIgax 23,000
- SHEEE 729,255,302 722,702,384 6,552,918
= 699,888,659
< 29,366,643
A SAE2S 48,300 48,300 0
308 XXIEHH SOl A 48,300 48,300 0
01 AXHHILEES 48,300 48,300 0
ODAHKNESAME2SE 48,300
J=AZ K& 729,157,002 722,604,084 6,552,918
= 699,888,659
< 29,268,343
308 A EHHSOIA 729,157,002 722,604,084 6,552,918
= 699,888,659
< 29,268,343
01 HXNHHBHELS 729,157,002 722,604,084 6,552,918
=3 XA 729,157,002
= 699,888,659
= 29,268,343
ZEZTNIGMII=SANMES 50,000 50,000 0
201 Lt 50,000 50,000 0
01 At 2t 2l 50,000 50,000 0
Oger==&H| 50,000
OZETTEMAIIAMEER 50,000
LGNNI EAS X 28,752,257 23,473,467 5,278,790
= 20,861,766
Jl| 1,455,468
S 6,435,023
oo zsExsd 2,501,900 717,600 1,784,300
J| 552,000
< 1,949,900
KO AE Y 2 22 (BTLANY) 717,600 717,600 0
J| 552,000
< 165,600
308 MXIEHSOIH 717,600 717,600 0
J| 552,000
< 165,600
01 HXNHHBHELS 717,600 717,600 0
OXIAEE A 2e] 717,600
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M ox
40 5 4

% - 4 14
SA - B .G (3H) - NEAY %Eﬁ HR=2
203 R F & 4,300 4,500 A 200
03 AIZH =X 2= X H| 4,300 4,500 A 200
DoAY s 4,300
SHEQIME 22| AFIFA AF 8,049,344 7,442,460 606,884
= 7,132,330
& 917,014
308 XAHXIGHH SO0l & 8,049,344 7,442,460 606,884
= 7,132,330
& 917,014
01 IXHHIMNEXS ;049,344 7,442,460 606,884
OSH oM 22| 8,049,344
= 7,132,330
= 917,014
SENLAEZSEHHUSSOHE , 174,508 574,379 600, 129
J| 903,468
= 271,040
308 AMXISHMSOIA 831,308 466,700 364,608
J| 639,468
o=} 191,840
01 AIXSHMENEXZ 831,308 466,700 364,608
OJEHAEZSZE0H SO M AANSE(2H) 831,308
J| 639,468
& 191,840
403 XX SHHS K20 & 343,200 107,679 235,521
J| 264,000
= 79,200
01 XIS A=Z2E X 343,200 107,679 235,521
OSHLASSHY =& A HIA A 343,200
J| 264,000
o 79,200
SH Lol ME 2| AL S 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
11T A EXAIEEX 20,000 20,000 0
OSHEOIME 22| AITH S 20,000
LOEE0IXNA(EX) 9,262,678 7,432,659 1,830,019
=2 8,207,436
& 1,055,242
308 XX SHHSOIH 9,262,678 7,432,659 1,830,019
=2 8,207,436
o= 1,055,242
01 AIXSHMENEXZ 9,262,678 7,432,659 1,830,019
O Es80HRHdANA 9,001,639
= 7,976,136
= 1,025,503




A= SXAL= AR N =2=—=P\ )}
HH: LMY PASA
el XEABAES (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
eI DA BIA X & 261,039
= 231,300
< 29,739
Lo QYESANAS AR 15,293 14,151 1,142
101 14l 15,293 14,151 1,142
04 JI2ZtHZ22HEE = 15,293 14,151 1,142
OQLYESAIAA 2L R
48,2403 x1H »317L 15,293
SH- At 2 HE L3 X J 79,000 0 79,000
= 70,000
< 9,000
308 XXM SO0l A 79,000 0 79,000
= 70,000
< 9,000
01 IXNHHBNEES 79,000 0 79,000
OSAHEAE RS IIAY 79,000
= 70,000
< 9,000
SHUASSHFATAY 70,260 70,260 0
308 XtXIEHHSOIA 70,260 70,260 0
01 AXHHILEES 70,260 70,260 0
O=SHEUZSHFATEAEY 70,260
QYESASE XN ALY 170,000 150,000 20,000
307 21201 A 170,000 150,000 20,000
11T ALSI S XA E X 170,000 150,000 20,000
ORABSASEX A 170,000
FALAIE & X 6,746,000 6,290,032 455,968
= 5,452,000
< 1,294,000
SHEAIEEXIALS 6,746,000 6,290,032 455,968
= 5,452,000
= 1,294,000
403 MHXSHHSA=0l& 6,746,000 6,290,032 455,968
= 5,452,000
< 1,294,000
01 XM A2E X 6,746,000 6,290,032 455,968
OStEAE LI AS 6,746,000
= 5,452,000
< 1,294,000
CANE=TSH 47,211,538 39,806,010 7,405,528
= 11,584,462
J| 500,000
=) 35,127,076




AR =xA2R SN LolE=RD
HE: LOANEEXNSH
Sl QIO IAIE S YUK CERED
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
COIANE 2SR XA 12,715,049 12,658,550 56,499
= 3,886,340
< 8,828,709
LonNAaRd 99,000 100,800 A 1,800
308 MXIEHSOIH 99,000 100,800 A 1,800
01 HXNHHBHELS 99,000 100,800 A 1,800
OLowazd 99,000
22X & 2,266,791 2,227,000 39,791
307 glz2tol & 50,000 0 50,000
11T M Z2XAISEX 50,000 0 50,000
OH=EZ=dMULASEZ ISR 50,000
308 XXM SOIA 2,216,791 2,227,000 A 10,209
01 XML EES 2,216,791 2,227,000 210,209
D3I SEAZHI 1,225,753
ODZ2z24=23 & 949,038
O3 dstAe 42,000
Lol RstaE 128,500 129,100 A 600
307 21201 A 55,000 55,000 0
11T M3 SXAISEEX 55,000 55,000 0
[JYOYO= st Ml oK = 55,000
308 X EHSOIA 73,500 74,100 A 600
01 HIXNHHNBHEES 73,500 74,100 A 600
avovosdost=2d 29,400
LYovYoOS g2 4dst k& 44,100
222 SEIIHLH XA 9,719,998 9,695,400 24,598
= 3,738,460
< 5,981,538
308 MXIEHSOIH 9,719,998 9,695,400 24,598
= 3,738,460
< 5,981,538
01 HXNHHBHELS 9,719,998 9,695,400 24,598
OZ2YsEIIHHH X2 7,585,388
= 2,917,457
< 4,667,931
D32 E=dX& 1,628,916
= 626,506
< 1,002,410
OD32GHSHIX2 505,694
= 194,497
< 311,197
Z2EZATNKLH2 S 295,760 301,250 A5,490
= 147,880




A YEEE: I E
HH: COALENEX
©9l: ZOOIA LAY S (e9: & 9)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
< 147,880
307 glz2tol & 295,760 301,250 A5,490
= 147,880
< 147,880
10 ALSISXAIEEE 22X 295,760 301,250 A5,490
O3 ZAXNJUEH2I XA 295,760
= 147,880
< 147,880
HEZZ2L L EZT AR 200,000 200,000 0
308 XXIELHSOIA 200,000 200,000 0
01 IXNSHHBANEES 200,000 200,000 0
Da=sZzdeds=3AE 200,000
Lo=EA22ERE 5,000 5,000 0
307 21201 A 5,000 5,000 0
11T AL SXAEE = 5,000 5,000 0
OL=sX2ESAMtLS 5,000
LO=EXNANEEHS 4,889,566 2,645,125 2,244,441
= 2,404,282
J| 500,000
< 1,985,284
F2HYIsE2ZAY 994,000 326,000 668,000
403 UHXSHHSA=0l& 994,000 326,000 668,000
01 XM A= XL 994,000 326,000 668,000
O3 E At 994,000
CoSRA2AELMNE S 120,000 300,000 A 180,000
403 MtXISHH S =0l & 120,000 300,000 A 180,000
01 XM A2E X 120,000 300,000 A 180,000
OLosiass 120,000
COo=RAEIISsELAY 3,125,566 2,019,125 1,106,441
= 2,404,282
< 721,284
403 XIS E X201 E 3,125,566 2,019,125 1,106,441
= 2,404,282
< 721,284
01 XXM A2E = 3,125,566 2,019,125 1,106,441
O =XNAIE)IsEZAY 3,125,566
= 2,404,282
< 721,284
COASXANEIISEZ AL (RHH) 150,000 0 150,000
403 UHXSHHSA=0l& 150,000 0 150,000
01 XM= L 150,000 0 150,000




A= SXAL= M eE=R1
= LOoANESISA
Sl o= XALEE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
O =XAIdtMLH XA 150,000
LoEX&AISsEZAY 500,000 0 500,000
J| 500,000
403 MtXISHH S0l & 500,000 0 500,000
J| 500,000
01 AXISHH A2 E= 500,000 0 500,000
OLe=ElalsEZAd 500,000
J| 500,000
LA=EXNANE2E 29,606,923 24,502,335 5,104,588
= 5,293,840
< 24,313,083
COESNAEL LT 10,824 60,311 A A49,487
308 XtXIEHH SOl A 10,824 60,311 A 49,487
01 RXESHBARES 10,824 60,311 £49,487
O =R A AT EN 2 ALY Y| 10,824
LUETNANE2E XS 23,289,510 19,006, 331 4,283,179
307 glz2tol & 43,000 43,000 0
11T AL SXAEE X 43,000 43,000 0
OLsSTAEHANME A B3BBG NS 25,000
O sSIANE2SEHEMBXE 18,000
308 MtXIEHMSOIH 23,246,510 18,813,643 4,432,867
01 X HHILEES 23,246,510 18,813,643 4,432,867
OM2ILAEXNANESERSAA 12,480
OSSN AMEBANSE 1,212,528
OFIAINZ=0HH S A 20,560,638
OFINII2SSANSHEE XA 1,460,864
YZAE2YN 2 5,673,563 4,903,646 769,917
= 5,027,208
< 646,355
308 XXM SOl A 5,673,563 4,903,646 769,917
= 5,027,208
< 646,355
01 IXNHHBNEES 5,673,563 4,903,646 769,917
DSZALE2SEXE 5,673,563
= 5,027,208
< 646,355
COANENASERF 33,700 46,452 A12,752
201 2ere Q| 4,600 17,300 A12,700
01 At 2teltl 4,600 17,300 A 12,700
Ogpt=2H] 2,000
OLANEXNEER+EHI 2,000




AR 2X2AHL=2 SR U k=2=—-D N
M. LOoANAEE2XNSE
Sl Lol=XALSY CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Oeds¢ 500
OLQAEX2IdA3 =S 500
2 &I 2,100
OEQAIEX 3L I2FRZSAH| 2,100
202 044l 9,800 9,652 148
01 2L I 9,800 9,652 148
OEQAAXNSE =0 9,800
203 € R F&d| 4,300 4,500 A 200
03 AIZH =& 2 F X Y| 4,300 4,500 A 200
OSQAIE XIS LR 4,300
307 QI2t0| ™ 15,000 15,000 0
11 A EXAIEEX 15,000 15,000 0
O =SXAERIASAALE 15,000
AEYI2AERIEARNKA(EX) 209,200 209,200 0
= 209,200
308 XX SHHSOIH 209,200 209,200 0]
= 209,200
01 AIXSHMENMNEX= 209,200 209,200 0
OY9FEHH2AIESI &R 209,200
= 209,200
ALE 2ISHOI X & 50,000 0 50,000
308 XHXIGH SO0l & 50,000 0 50,000
01 AIKSHHEMNEXZ 50,000 0 50,000
[JAIE2ISIOI DI =B 2 AL 50,000
MOt EXAd2d 265,464 239,064 26,400
307 QI2t0| & 45,000 45,000 0
11T A EXAIEEX 45,000 45,000 0
OOt 2XAEANE 15,000
OMIITE A HESES GOS8 AL 30,000
308 XAXIGH SO0l & 220,464 194,064 26,400
01 AIKISHHENEXZ 220,464 194,064 26,400
OIS XNAEd2S 220,464
WotRI el 22y 74,662 37,331 37,331
2 57,432
=} 17,230
308 MXISHMSOIA 74,662 37,331 37,331
= 57,432
&< 17,230
01 HXHHIMNEEXTZ 74,662 37,331 37,331
CORIIEIN QLD 2 XS A A AAAS X R 74,662
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= A
N = 0] &F AF S & AN A
AR 2X2AHL=2 2A  ZoHeI =X
Hy: H=XEA
G Ol MEOHA X & (2 &HH)
L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
00 el = X| 1t 174,191,210 156,997,557 17,193,653
= 130,711,001
Jl 8,000,000
= 35,480,209
PSR-\ == | 174,102,810 156,910,557 17,192,253
= 130,711,001
J| 8,000,000
o 35,391,809
ORI M EHOHAE X & 91,788,433 92,071,169 N 282,736
= 81,341,132
o 10,447,301
HOHIH B 45,436,611 47,485,720 2,049,109
= 41,199,000
=} 4,237,611
308 MXISHMSOIA 45,436,611 47,485,720 A2,049,109
= 41,199,000
& 4,237,611
01 IXHHIMNEEXTZ 45,436,611 47,485,720 N2,049,109
&M AZ XA 45,436,611
= 41,199,000
& 4,237,611
OSSR (INIx) 6,133,848 6,191,745 NB7,897
= 5,435,055
== 698,793
308 XHXIEHSOIA 6,133,848 6,191,745 NB7,897
= 5,435,055
= 698,793
01 AIXSHMEAMNEX= 6,133,848 6,191,745 NB7,897
OSSR (II=x) 6,133,848
= 5,435,055
= 698,793
ZONSE R (X&) 4,722,265 5,540,422 ~818, 157
=2 4,184,285
& 537,980
308 XNXIGHHMSO0l& 4,722,265 5,540,422 A 818,157
= 4,184,285
& 537,980
01 IHXHHNBIMNEXS 4,722,265 5,540,422 A 818,157
OXMH=S X2 (XA 4,722,265
= 4,184,285
== 537,980
o elol 2 HI X & 1,935,000 1,988,750 A B3,750
= 1,800,000
o 135,000
308 XX SHHSOIA 1,935,000 1,988,750 A 53,750
= 1,800,000




A YEEE: SN Zope =R B
Hy: H=XEA
CHol: EOH Ol A B O K| (SHol: @)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 135,000
01 IXNHHBNEES 1,935,000 1,988,750 A 53,750
J&ofelel 2l X & 1,935,000
= 1,800,000
< 135,000
ZOH QI RHA SHHI I & 1,666 40,850 239,184
2 1,549
= 117
308 XX EHHSOIA 1,666 40,850 A 39,184
= 1,549
< 117
01 X HHILEXS 1,666 40,850 A 39,184
CJEON S XF A & HI X & 1,666
2 1,549
< 117
O EXRDI| P LR 86,000 91,989 A5,989
= 80,000
< 6,000
308 AHXIEHHSOIA 86,000 91,989 25,989
=2 80,000
< 6,000
01 HIXNHHNBMNELS 86,000 91,989 5,989
OFMHAERI AW 86,000
= 80,000
< 6,000
ZUHSSEMNE2YE 62,452 60,502 1,950
= 48,040
) 14,412
308 XXM SOl A 62,452 60,502 1,950
= 48,040
=) 14,412
01 AXHHILEES 62,452 60,502 1,950
DZsSeEMNE2SE 62,452
2 48,040
< 14,412
SOHEZ TN AL 328,510 296,400 32,110
2 252,700
< 75,810
403 A X EHHS =0l A 328,510 296,400 32,110
= 252,700
= 75,810
01 X EHHA=LE L 328,510 296,400 32,110
OsHEZ O FEINEALES 328,510
= 252,700
< 75,810




A YEEE: SN Zope =R B
Hu: MOjQI=EREX
CHol: FOJQI M E OHE K| CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ZOHAUAMHAIZLA0EZXA 84,049 81,699 2,350
= 74,474
< 9,575
308 AHAIEHHSOIA 84,049 81,699 2,350
2 74,474
< 9,575
01 HIXNHHNBHELS 84,049 81,699 2,350
OO A AL A0SR 84,049
2 74,474
< 9,575
O ESKA 25,894,057 23,615,881 2,278,176
= 22,944,101
< 2,949,956
308 XXM SO A 25,894,057 23,615,881 2,278,176
= 22,944,101
< 2,949,956
01 AXHHILEES 25,894,057 23,615,881 2,278,176
O2sSXdz=0(8=2H) 25,834,433
= 22,891,270
< 2,943,163
OZSZNAESEXINNNSH(BIRH) 59,624
2 52,831
< 6,793
ZOHAUS XL Xl AL 2,367,924 2,193,516 174,408
= 1,821,480
= 546,444
308 XXM SO0 A 2,367,924 2,193,516 174,408
=2 1,821,480
< 546,444
01 IXNHHBHNEES 2,367,924 2,193,516 174,408
XM S XL Atel Ak 2,367,924
= 1,821,480
=3 546,444
Fojl et ATl ALY 3,969, 165 3,765,353 203,812
= 3,053,204
< 915,961
308 XXIEHHSOIA 3,969, 165 3,765,353 203,812
= 3,053,204
< 915,961
01 XML EES 3,969, 165 3,765,353 203,812
O Lot dXtel X3 AS 3,969, 165
= 3,053,204
< 915,961
Al 2t ZOH O1 OF OF AFTIH 24 A2 418,491 370,385 48,106
= 389,294
< 29,197




AR 2X2AHL=2 2A 2ol ol = Xl ot
M ZOjQ=NEN
Chelr ROjQI MO X & o HE)
- _ _ RE]
SRA-EY () - MEAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 418,491 370,385 48,106
= 389,294
& 29,197
01 AIXSHMEMNEX= 418,491 370,385 48,106
A ZFEOH QI oHOFAFILFA AFES 418,491
= 389,294
=} 29,197
EXSNHAEHHQI2LESHH X & 41,000 41,000 0
308 XAHXIGHH SO0l & 41,000 41,000 0
01 IXHHIMNEXS 41,000 41,000 0
SExS N MASEN2LESHH K& 41,000
Aol EdsE0INEEZ 12,060 11,607 453
101 21214| 12,060 11,607 453
04 JI2ZtHIZ22XNEES 12,060 11,607 453
O DSz SHSEIEEZOI
48,2403 1 12,060
O E=SB R NA(KA) 220,000 225,000 A5,000
308 XAHXIGHHM SO0l & 220,000 225,000 5,000
01 IHXHHIMNEXS 210,000 210,000 0
&M ESsEXTAMHAXNR 210,000
10 B 2 SHCHSHE A A A 10,000 15,000 A5,000
JHMWO S EEXZAMNHAXNKRE =TS 10,000
SHHCIRUYEBSAIE AT ALY 75,335 70,350 4,985
= 57,950
& 17,385
308 XHXIGH SO0l & 75,335 70,350 4,985
= 57,950
& 17,385
01 IS HEMNEX= 75,335 70,350 4,985
JSSHHULUYBESAIEZ L I ALY 75,335
= 57,950
o= 17,385
OIS XX 9,980,477 9,516,282 464,195
= 5,086,703
= 4,893,774
OHOIMAMASITIHAI B2 A 158,500 148,438 10,062
= 63,400
= 95,100
307 QI2t0| & 158,500 148,438 10,062
= 63,400
= 95,100
10 A SXNANEEHESIGH EX 158,500 148,438 10,062




M ox
40 5 4

CeEfHA= S EOHQ

o -

D HM=EXSE
DA X

|

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

OFHAHUMSEHIMAILR2SE 158,500
= 63,400
< 95,100

Al WS X AAS 89,500 40,500 49,000
= 70,000
= 19,500

307 ©I20| & 50,000 40,500 9,500
2 35,000
< 15,000

11T MISRAASEX 50,000 40,500 9,500
OWdZ0H =X 3A 50,000
= 35,000
< 15,000

308 AHAIEHHSOIA 39,500 0 39,500
= 35,000
< 4,500

01 HXNHHNBMNELS 39,500 0 39,500
OHEZHON AR EHE X 39,500
= 35,000
< 4,500

ESTHANSHE(IL)2EXE 165,300 174,000 A8,700
= 114,000
< 51,300

308 XXM SOl A 165,300 174,000 A 8,700
= 114,000
= 51,300

01 IXNHHBNEES 165,300 174,000 A 8,700
O=SSZAXNSME(IL)2LX S 165,300
= 114,000
< 51,300

ZOHOtSTHEX 2 4,512,552 4,763,446 A 250,894
= 3,998,464
= 514,088

308 XtXIEHHSOIA 4,512,552 4,763,446 A 250,894
= 3,998,464
< 514,088

01 AXHHILEXS 4,512,552 4,763,446 A 250,894
OXOMHOtsTHE X 2 XI & 4,512,552
= 3,998,464
< 514,088

OIS L= 762,647 746,937 15,710
= 533,853
< 228,794

308 XX EHSOIA 762,647 746,937 15,710
= 533,853
< 228,794




A= SXAL= M ZOHASX
Hy: H=XEA
SH9l: FOHQI=XIKI R CH CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HIXNHHNBHNEES 762,647 746,937 15,710
OOt N=SLEIR 762,647
2 533,853
< 228,794
AHLERA 40,082 148,362 A 108,280
2 35,516
< 4,566
308 XXIEHH SOl A 40,082 148,362 A 108,280
2 35,516
< 4,566
01 AXHHILEES 40,082 148,362 A 108,280
OANELEHR2XHEHAALE XA 40,082
=2 35,516
S 4,566
NEHEMHAXNALMEHZZ 226,000 220,000 6,000
308 MtXIEHSOIH 226,000 220,000 6,000
01 HXNHHBHELS 226,000 220,000 6,000
OXNEFEWAXNZ2LH2H 226,000
ZOHQITHEXRHHEZ S 31,000 27,000 4,000
308 XX EHSOIA 31,000 27,000 4,000
01 HIXNHHNBNEES 31,000 27,000 4,000
OFMHAWEXNAEH2 S 31,000
ZOHI=SXIX &AL 1,108,780 570,880 537,900
308 XXM SOIA 1,108,780 570,880 537,900
01 IXNHHBNEES 1,108,780 570,880 537,900
Os0tp 8282 23HALS 9,000
Osoto S &M I X2 AS 6,900
O =Xd2dMOXA 20,000
OANZDSAMINGHEH2EL0ISX A 380,000
ONSHMNMAEES ALY 22,000
OANZXMENL LA NEXNUMEHZ2S 230,000
OANZEHZUHHEXRALMH2H 86,400
OO b= Atell 2 el At 106,000
OAMNZHMHAEESXNAHH2 S 90,900
O segasge42d 55,000
OANZHEHTHIAAAER0ISNAMNE 2
A& 43,780
OAMZAUMEHAIHEAEAR2 S 58,800
Ol ASEHIAIE XA 180,000 154,000 26,000
307 glz2tol & 180,000 154,000 26,000
10 AL SXAIEEE2EH EX 180,000 154,000 26,000
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M ox
40 5 4

= - — SHE|
SA B E(BH) - NN - BYS e Hl D= 2t

| < 5,500

FRAGEIE2ZAMA=ZI2XE 24,742 25,667 A 925
2 16,340
< 8,402

201 £B-2dH| 10,000 9,560 440
= 5,000
< 5,000

01 At 22l 10,000 9,560 440
2Bt~ ZH| 10,000
O=UdIHa=2LdANEES 10,000
= 5,000
< 5,000

308 MtXIEHMSOIH 14,742 16,107 A 1,365
= 11,340
< 3,402

01 AXSHBLELS 14,742 16,107 A 1,365
OFPdEEE2ZAA=I2X & 14,742
= 11,340
< 3,402

LELEEUH S 2 ALY 22,880 23,530 A 650
J| 17,600
< 5,280

308 XXM SO0 A 22,880 23,530 A 650
J| 17,600
< 5,280

01 IXNHHBNEES 22,880 23,530 A 650
eSS dEEol 2 AL 22,880
J| 17,600
< 5,280

g2 AY ,809,689 18,907,801 901,888
J| ,304,828
< ,504,861

308 XX EHH SOl A ,809,689 18,907,801 901,888
J| ,304,828
< ,504,861

01 IXNSHHEBAMNEES ,809,689 18,907,801 901,888
OHgEESsSdH2E 288,626
J| 288,626
Opgdg=d2da oy 53,100
J| 40,846
= 12,254
OoeolugdE s ,425,043
J| ,326,956
< 3,098,087
Oy sSXA 6,042,920
J| 4,648,400




M ox
40 5 4

A [ XA =
S L2

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

| =) 1,394,520

HEHAOSZAMAZS 28,300 25,920 2,380
J| 14,150
< 14,150

201 £B-2dH| 4,300 2,160 2,140
J| 2,150
< 2,150

01 At 22l 4,300 2,160 2,140
Ogpt=2Hl 4,300
OHE=ZHAHSUSESHIE+=EH| 4,300
J| 2,150
< 2,150

308 MtXIEHMSOIH 24,000 23,760 240
J| 12,000
< 12,000

01 HIXNHHBHELS 24,000 23,760 240
OM=H A0S ZAMA2 S 24,000
J| 12,000
< 12,000

o ZEUIHE=ZAINZXR 93,600 98,550 A 4,950
J| 93,600

201 L4l 1,000 0 1,000
J| 1,000

01 At 2t 2l 1,000 0 1,000
Oger==&H| 1,000
Ooz2HATHEE DA I 2+EH| 1,000
J| 1,000

308 X EHSOIA 92,600 98,550 A5,950
J| 92,600

01 HIXNHHNBNEELS 92,600 98,550 5,950
Ooz2sdddE=2AI2X 92,600
J| 92,600

dMELEE A EaHETRA 96,000 96,000 0
J| 96,000

308 XXM SO A 96,000 96,000 0
J| 96,000

01 AXHHBIYEES 96,000 96,000 0
RIsZgESHAc|das2sRA 96,000
J| 96,000

SHAIOITI| Gf A4 I1| G K44 & K| & 1,337,400 1,404,000 A 66,600
= 1,337,400

308 XX EHH SOl A 1,337,400 1,404,000 A 66,600
= 1,337,400

01 HXNHHBHELS 1,337,400 1,404,000 A 66,600




Fal;

AR =xA2R = 23
M BHALZAMATRS
Helr M L2 AY (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
)8t o1 TI| o Ak 1] o Xt 24 & X| & 1,337,400
= 1,337,400
StelolE=HEBIML AL (KH2) 4,630,500 0 4,630,500
= 3,087,000
< 1,543,500
403 UtXISHH S0l & 4,630,500 0 4,630,500
= 3,087,000
< 1,543,500
01 XM A=2EE 4,630,500 0 4,630,500
Ot ==t Z & ALY 4,630,500
= 3,087,000
< 1,543,500
AL S A 24,437,034 24,708,686 A271,652
J| 18,332,811
< 6,104,223
AL EEAE Z=2 25,800 26,000 A 200
201 Let24d] 6,000 6,000 0
01 At 22l 6,000 6,000 0
Opt=2Hl 4,000
OULSIANL2HAMTE R 4,000
O2ds¢ 2,000
OULSIAL A =Z XN HI 2,000
202 044l 15,000 15,000 0
01 = LH o4 1l 15,000 15,000 0
OALSTALLRFE AL 15,000
203 ¥ S =&l 4,800 5,000 2200
03 A=A H 2 =AH| 4,800 5,000 A 200
OALSTA Y2 EX 4,800
K AS 242 AL 743,331 754,333 A 11,002
J| 571,793
< 171,538
308 XX EHSOIA 743,331 754,333 A 11,002
Jl| 571,793
< 171,538
01 HXNHHNBMNEES 743,331 754,333 A 11,002
OXI S A 22 A 743,331
J| 571,793
< 171,538
K AS A2 ALALS 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
05 RIZt2IE = 15,000 15,000 0
O3 =SEXNIAM AL IAISHE & 24 15,000




A3 =SXAY=2 SN AR
HE: BMALBRAMAN TS
ool ASBIAY CER-ED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
dEAL2elArS 51,000 51,000 0
308 AHAIEHHSOIA 51,000 51,000 0
01 HXNHHBHELS 51,000 51,000 0
OgAZ2el Aty 51,000
TH O & 8 Xt 2t 2| 140,064 140,064 0
J| 107,740
< 32,324
308 XXM SO0 A 140,064 140,064 0
J| 107,740
= 32,324
01 IXNHHBNEES 140,064 140,064 0
OOt & Rt 2te| 140,064
J| 107,740
< 32,324
S5CHE ZJ1E & ALS 1,110,123 1,020,443 89,680
J| 853,941
< 256,182
308 XXIEHHSOIA 1,110,123 1,020,443 89,680
J| 853,941
< 256,182
01 AXNHHZBANEES 1,110,123 1,020,443 89,680
5 =01 & &AL 1,110,123
J| 853,941
< 256,182
et 2 HI X & A 1,524,822 1,471,245 53,577
J| 1,172,940
< 351,882
308 A EHHSOIA 1,524,822 1,471,245 53,577
J| 1,172,940
< 351,882
01 AXSHBLEES 1,524,822 1,471,245 53,577
Ottt A& ALY 1,524,822
J| 1,172,940
< 351,882
HRZ=EXNGLHEH2Y 107,500 100,000 7,500
J| 43,000
< 64,500
307 glz2tol & 107,500 100,000 7,500
J| 43,000
< 64,500
02 HAFHAANGEEX 107,500 100,000 7,500
OHAZ=2LdH2g X2 107,500
J| 43,000
< 64,500




A YEEE: SN BAF Y
M BHALZAMATRS
ool ASBIAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
AN L ES T SHIXH 1,838,688 1,825,387 13,301
J| 1,414,375
< 424,313
308 AHAIEHHSOIA 1,838,688 1,825,387 13,301
b] 1,414,375
< 424,313
01 HIXNHHNBHELS 1,838,688 1,825,387 13,301
O8AUXNdE2 &N 2H X 1,838,688
J| 1,414,375
< 424,313
AL E2aE S0 Y2l 1,432,913 1,511,241 AT8,328
J| 1,083,625
=) 349,288
307 glz2+0l & 100,000 100,000 0
J| 50,000
< 50,000
02 HAHFHAANGEEE 100,000 100,000 0
Do gadeog2e 29X M A 100,000
J| 50,000
< 50,000
308 MtXIEHMSOIH 1,332,913 1,411,241 AT78,328
J| 1,033,625
< 299,288
01 HXNHHNBHEELS 1,332,913 1,411,241 AT8,328
Oo2ga8ALNE AT HS S ALY 1,296,913
J| 997,625
< 299,288
Do gdesugdelnsiE 36,000
J| 36,000
G SHSH LA 30,000 30,000 0
308 XtXIEHH SOl A 30,000 30,000 0
01 RHXSHBALED 30,000 30,000 0
OE=8dSuTAS A 30,000
FUAL VI (LI XSLIA) 686,205 678,572 7.633
J| 527,850
< 158,355
308 MtXIEHMSOIH 686,205 678,572 7,633
J| 527,850
< 158,355
01 HXNHHBHELS 686,205 678,572 7,633
OLQoxIEL AL 686,205
J| 527,850
< 158,355
MOHEE I A2 TS ALY 78,936 81,073 N2,137
J| 78,936




Paa

AR =xAL= & ks
M BHALZAMATRS
Sl AVSAY CER-ED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 78,936 81,073 A2,137
J| 78,936
01 HIXNHHBHEELS 78,936 81,073 N2, 137
IO A S0 24 2 & EFAHY 78,936
J| 78,936
HLEROILEH AT ALY 105,000 105,000 0
308 XXM SOIA 105,000 105,000 0
01 IXNHHBNEES 105,000 105,000 0
ORctSAZLMEUHNISAIHZS 78,000
ONMEdd A 27,000
ESH=cSHE L ALY H T ALY 363,649 364,110 A 461
J| 363,649
201 €24l 59,840 59,840 0
J| 59,840
01 At 2t 2l 59,840 59,840 0
Oget==&H| 59,840
OS2 NAdLdHIANGAE =2 59,840
J| 59,840
308 A EHHSOIA 303,809 304,270 A 461
J| 303,809
01 HXNHHBHELS 303,809 304,270 A 461
OS2 NA LS A 303,809
J| 303,809
NEAS SEAZSEAY 10,568,607 12,461,858 A 1,893,251
J| 8,071,544
= 2,497,063
201 L4l 4,000 50,000 A 46,000
J| 2,000
= 2,000
01 At 22l 4,000 0 4,000
Opt=ZHl 4,000
OXGA SETAL ST A =S4l 4,000
J| 2,000
< 2,000
307 2I2+0 & 212,000 192,000 20,000
J| 106,000
< 106,000
02 It M AHE X 212,000 192,000 20,000
OALSIMNSRNAL2 S 212,000
J| 106,000
< 106,000
308 XtXIEHH SOl A 10,352,607 12,219,858 A 1,867,251
J| 7,963,544




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

== 2,389,063

01 IXNHHBNEES 10,352,607 12,219,858 A 1,867,251
OXAAS Se AL ST AL 10,352,607
J| 7,963,544
< 2,389,063

AZMOSZ=E A 360,000 300,000 60,000

308 XX EHHSOIA 360,000 300,000 60,000

01 AXHHILEES 360,000 300,000 60,000
OAZMOISEEAS 360,000

OFENEANNSEHSHE 400,000 400,000 0
J| 200,000
< 200,000

307 gl2tol & 400,000 400,000 0
J| 200,000
< 200,000

02 IZtA M AIHE L 400,000 400,000 0
OOEINENNSTEBAEH2Y 400,000
J| 200,000
< 200,000

s H X MHIA 4,855,396 3,359,360 1,496,036
J| 3,843,418
< 1,011,978

307 glz2tol & 578,490 0 578,490
J| 553,490
< 25,000

02 It AAHEE 50,000 0 50,000
DX M S HXNE MBI AALS 50,000
J| 25,000
< 25,000

05 BIZHRI & 3 528,490 0 528,490
ONMASESHAXNZXNE ALY 528,490
J| 528,490

308 XXM SO0l A 4,276,906 3,359,360 917,546
J| 3,289,928
< 986,978

01 IXNHHBNEES 4,276,906 3,359,360 917,546
OXNSEMIISASARNRABIAAS 4,276,906
J| 3,289,928
< 986,978

FUALSI ALY 6,283,401 5,507,241 776,160
= 56,750
J| 3,618,475
< 2,608,176

FAHLESEAIE =2 421,529 405,176 16,353
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SXALR SN AR
HMAUULIHH RS
ALY SN (cho &)
- _ _ RE]
SEN BB (EH) - NEAY - BAS Ofl At o %Eﬁ HR=2
| = 60,000
S ESENEEHESH 190,970 183,365 7,605
J| 146,900
== 44,070
308 NXIEHSOIA 190,970 183,365 7,605
Dl 146,900
= 44,070
01 AIXSHMEAMNEX= 190,970 183,365 7,605
Os=s2dcsglddgaed 190,970
J| 146,900
& 44 070
HuALSAHEHSH 1,185,827 1,144,000 41,827
J| 912,175
& 273,652
308 XAHXIGH SO0l & 1,185,827 1,144,000 41,827
J| 912,175
& 273,652
01 AIKISHENEXZ 1,185,827 1,144,000 41,827
OFAMALSRHEHS S 1,185,827
J| 912,175
& 273,652
T YL AAL ST ALY 422,500 214,500 208,000
J| 325,000
o= 97,500
308 XX SHHSO0IA 422,500 214,500 208,000
J| 325,000
=} 97,500
01 AIXSHMENMNEXZ 422,500 214,500 208,000
OXNAUHSLYEHMNAUSEAIS 422,500
J| 325,000
& 97,500
AN SN 2RI AMALS ALY 32,000 32,000 0
J| 32,000
307 2Iz2to| & 32,000 32,000 0
J| 32,000
05 QIZt E 2 32,000 32,000 0
OMSEXNSRIFNHLSEALY 32,000
J| 32,000
ANSCEHANHALSREHEHSA 768,800 768,800 0
J| 384,400
&< 384,400
307 2120l & 768,800 768,800 0
J| 384,400
& 384,400
05 QIZtRES 768,800 768,800 0




A= SXAL= £ alPSES
HE: BMALBRAMAN TS
Sol: FAALSHAY EERED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
D3NS HUALSTHEHSY 768,800
J| 384,400
< 384,400
JNHAEHEH2Y 32,000 32,000 0
201 Let2d] 1,000 1,000 0
01 At 22l 1,000 1,000 0
Opt=2Hl 600
OXNMNASHH2IE NI DM S 600
negsg 400
OXNMMAGHEH2IEIDNIAZMES 400
303 L& 3 6,000 6,000 0
01 X432 6,000 6,000 0
OXMAGHHSIEIIUHI RE2HALAZ 6,000
308 XXM SOIA 25,000 25,000 0
01 IXNHHBANEES 25,000 25,000 0
OXMHAGHdH2AEI X 25,000
XIOH2el At =&l 383,000 383,000 0
308 XX EHHSOIA 383,000 383,000 0
01 HXNHHNBHEELS 383,000 383,000 0
OOXIHE & ALE =S X & 83,000
OXIOHNEEH X 300,000
HEXHEH2G XA 255,000 255,000 0
307 21201 A 255,000 255,000 0
02 QAFAAFEX 255,000 255,000 0
OHEXMEEH2E XA 255,000
X O X 28I K& A 1,548,000 1,219,400 328,600
J| 1,191,000
< 357,000
308 MHXIEHSOIH 1,548,000 1,219,400 328,600
J| 1,191,000
< 357,000
01 AXSHBAELS 1,548,000 1,219,400 328,600
OXIHX S 2eldl X &AL 1,548,000
J| 1,191,000
< 357,000
AT ZAXMMEH2SH 610,000 600,000 10,000
J| 427,000
= 183,000
307 izl & 610,000 600,000 10,000
J| 427,000
< 183,000




a2 =xAYR SN BARHY
HE: BMALBRAMAN TS
Sol: FAALSHAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
05 RIZtR & = 610,000 600,000 10,000
OZ4SS ARG X2 610,000
J| 427,000
< 183,000
X OHHZ2 A A X2 ALY 100,000 0 100,000
307 glz2+ol & 100,000 0 100,000
05 RIZt2IE = 100,000 0 100,000
OXIH 2 etE X2 At 100,000
SjdIBtAIE S SR M AN S 10,870,940 10,785,490 85,450
J| 9,233,813
< 1,637,127
A HRFA 23,000 23,000 0
201 et 8,000 8,000 0
01 At 2teltl 8,000 8,000 0
Opt=2Hl 6,000
Oz el 2 MR el 6,000
O2ds¢ 2,000
OSSd=?J32I+ES 2,000
202 044l 15,000 15,000 0
01 = LH o4 1l 15,000 15,000 0
Doz el AL ERFE N 15,000
THOFEH & X2l 2 HI A& 75,000 75,000 0
308 XtXIEHH SOl A 75,000 75,000 0
01 AXHHILEES 75,000 75,000 0
OOt H 2 Xt el 2 8l X2 75,000
S22 N2 dH2 3l 188,600 184,400 4,200
J| 94,300
< 94,300
307 gl2tol & 188,600 184,400 4,200
J| 94,300
< 94,300
03 BIAHNHE2IHIEL 188,600 184,400 4,200
ODSSdSXNddH2E XA 188,600
J| 94,300
< 94,300
S22 NILEZIZ2IHRH 1,434,000 2,131,000 A 697,000
J| 1,434,000
307 glz2+ol & 1,434,000 2,131,000 A 697,000
J| 1,434,000
02 IZtE A AHEE 1,434,000 2,131,000 A 697,000
OssSdz2NAqLgdEZ2IH2Y 1,434,000




raox nx

2 =NAL= SN RARY
HOHMASBAMNPE
SR ESIEEEES LEIESRY

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

| Jl 1,434,000

HANGsgAdz2I 22X 4,541,000 4,425,000 116,000
J| 4,541,000

308 AHAIEHHSOIA 4,541,000 4,425,000 116,000
J| 4,541,000

01 HIXNHHNBHEES 4,541,000 4,425,000 116,000
OFsxEs2d2)|H2dXE 4,541,000
J| 4,541,000

FHAXNdHESAZ NS 50,000 0 50,000
J| 50,000

307 glz2+ol & 50,000 0 50,000
J| 50,000

02 QIZtE M AMHEE 50,000 0 50,000
OFAXNEHAESSA=XE 50,000
J| 50,000

HHAM=SSSHINIXH 146,300 154,000 A7,700
J| 73,150
< 73,150

307 21201 A 146,300 154,000 A7,700
J| 73,150
< 73,150

05 RIZt2IEt = 146,300 154,000 AT7,700
OdHAM=SESSH X UNIEX 146,300
J| 73,150
= 73,150

Ol=sS3AZANLE2IXA 25,000 35,000 A 10,000

307 gl2tol & 25,000 35,000 A 10,000

05 RIZIRIE 3 25,000 25,000 0
OolsAsSsdMALSENSF2IXA 25,000

s HASIIE XX 137,800 0 137,800
J| 106,000
< 31,800

403 Ut SHHS =0l & 137,800 0 137,800
J| 106,000
< 31,800

01 XM A2EE 137,800 0 137,800
OXNSHMSIITE X X3 A 137,800
J| 106,000
< 31,800

SSENE3 (LIS 3,000,000 3,000,000 0
J| 2,100,000
< 900,000

307 21201 A 3,000,000 3,000,000 0
J| 2,100,000
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20 or
g0 of
&l oF
R0 TJ

<

n0

Kio

Hl w

75,000
10,000
10,000

35,000
35,000
30,000
30,000
A 10,000
A 10,000
A 10,000

A50,000
A50,000

20,000
20,000
20,000
10,400

H3r
Wikd
RIS

3,000,000

20,000
20,000
20,000

120,000
120,000
70,000

30,000
30,000
30,000

364,000

Off &t 24

4

900,000
3,000,000
3,000,000
2,100,000

Jl

H

75,000
75,000
10,000
10,000
10,000
10,000
10,000
10,000
35,000
35,000
35,000
35,000
35,000
30,000
30,000
30,000
30,000
30,000
10,000

900,000

J|
Il

10,000
10,000
10,000
10,000

D)
)
]
y
D)

70,000
70,000
70,000
50,000
20,000

50,000
50,000
50,000
50,000
374,400
288,000

Jl

86,400
374,400

H

oM

30
O

ol
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